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Guess Paper – 2011
Class - XII

Subject – Accountancy

General Instructions:

(i) This question paper contains three parts A, B and C.

(ii) Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.

(iv) All parts of the questions should be attempted at one place.

PART A

(NOT FOR PROFIT ORGANIZATIONS, PARTNERSHIP FIRMS AND COMPANY ACCOUNTS)

1. List any four items which can be credited to the Capital Account of a partner when the capital account is fluctuating.










1
2. State the conditions according to Sec 79 of Company Act 1956 for the issue of shares at discount.












1
3. What is meant by “Preferential Allotment of Shares”?





1
4. Give the meaning of a Debenture.








1
5. What is the nature of Income and Expenditure Account





1
6. From the following extracts of the Receipts and Payment Account and the additional information, you are required to compute the income from subscription for the year ended March 31, 2007 and show the subscription item in the final account of the club.
Receipts and Payments Account

For the year ending 31st March 2009
Receipts




Amount

Payments


Amount
Subscriptions
10,000
Additional Information:

(i) Subscription outstanding on 31st March, 2008 Rs. 2,000

(ii) Subscription outstanding on 31st March 2009 Rs. 4,000

(iii) Subscription received in advance as on 31st March 2008 Rs. 3,000.

(iv) Subscription received in advance as on 31st March 2009 Rs. 2,000
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7. AB Ltd. issued 5,00,000, 7% debentures of Rs. 50 each. Pass necessary journal entries in the books of the company for the issue of debentures when debentures were:

(i) Issued at par, redeemable at 8% premium.

(ii) Issued at 4% premium redeemable at 5% premium.

(iii) Issued at 5% premium redeemable at par







3
8. TSE Ltd. issued 50,000 shares of Rs. 10 each, at a maximum discount permitted by companies Act payable as follows








3
9. Ravi and Mohan were partners in a firm sharing profits in ratio of 7:5 . Their respective fixed capitals were Ravi Rs. 10,00,000 and Mohan Rs. 7,00,000. The partnership deed provided the following:
(i)
Interest on Capital @ 12% p.a.

(ii)
Ravi’s salary Rs. 6,000 per month and Mohan’s salary Rs. 60,000 per year.

The profit for the year ended 31.03.2007 was Rs. 5,04,000 which was distributed equally, without providing for the above. Pass the adjustment entry.




4
10. A, B and C were partners in a firm sharing profits in 3:2:1 ratio. The firm closes its books on 31st March every year. B died on 12.06.2007. On B’s death the goodwill of the firm was valued at Rs. 60,000. On B’s death his share in the profit of the firm till the time of his death is calculated on the basis of previous year’s profit, which was Rs. 1,50,000. Calculate B’s share in the Profit of the firm. Pass necessary journal entries for the treatment of goodwill and B’s share of profit at the time of his death.







4
11. S. Ltd. was registered with an authorized capital of Rs. 4,00,000 divided into 40,000 equity shares of Rs. 10 each. The company offered to the public for subscription 30,000 equity shares. Applications for 28,000 equity shares were received and allotment was made to all applicants. All calls were made and duly received except the final call of Rs. 2 per share on 200 shares. Prepare Balance sheet of the company showing the different categories of Share Capital.
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12. Following is the Receipt and Payment Account of Literacy Club for the year ended 31.03.2006


Receipts
Rs.
Payments
Rs.

Balance b/d
19,550
Salary
3,000


Subscriptions

News paper
2,050


2004-05
1,200

Electricity Bill
1,000


2005-06
26,500

Fixed Deposit
20,000


2006-07
500
28,200
(on 01.07.2005 @ 9% p.a.)


Sale of old News Papers
1,250
Books
10,600


Government Grants
10,000
Rent
6,800


Sale of old furniture
5,700
Furniture
10,500


(costing Rs. 7,000)

Balance c/d
11,200


Interest on Fixed Deposit
450



65,150

65,150

Additional Information
(i)
Subscription outstanding as on 31.03.2005 were Rs. 2,000 and on 31.03.2006 Rs. 2,500.

(ii)
On 31.03.2006 salary outstanding was Rs. 600 and rent outstanding was Rs. 1,200.

(iii)
The club owned furniture Rs. 15,000 and books Rs. 7,000 on 01.04.2005.

Prepare Income and Expenditure Account of the Club for the year ended 31.03.2006 ascertain ‘Capital fund’ on 31.03.2005.
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13. A and B were partners in a firm sharing profits and losses in the ratio of 5:3. They admitted C as a new partner. A surrendered 1/3rd of his share in favour of C and B surrendered 1/4th of his share in favour of C. C brought Rs. 1,50,000 for his capital and Rs. 58,000 for his share of goodwill. Calculate new profit sharing ratio of A, B and C, sacrificing ratio of A, B and C, sacrificing ratio of A and B and pass necessary journal entries for the above transaction on C’s admission.











6
14. Pass necessary journal entries for the following transactions:
(i)
Issued 60,000 9% debentures of Rs. 75 each at a premium of Rs. 25 per debenture.

(ii)
Purchased 3,000, 9% own debenture of Rs. 100 each at Rs. 97 each immediate cancellation.

(iii)
Converted 1,800, 9% debenture of Rs. 100 each into 12% debenture of Rs. 100 each issued at a premium of 25%.








6
15. X and Y were partners in a firm sharing profits in 5:3 ratio. They admitted Z as a new partner for 1/3 share in the profits. Z was to contribute Rs. 20,000 as his capital. The Balance Sheet of X and Y on 01.04.2007 was as follows:

Liabilities
Rs.
Assets
Rs.


Creditors


6,400
Land and Building
25,000


Bills Payable

12,500
Plant and Machinery
30,000


Capitals


Stock
15,000


A
50,000

Debtors
20,000



B
35,000
85,000
Less : Provision





for doubtful debts
1,500
18,500


Profit and Loss A/c

4,500
Investment
20,000


Bank Loan

19600
Cash
19,500




1,28,000

1,28,000

Other terms agreed upon were:

(i)
Goodwill of the firm was valued at Rs. 12,000.

(ii)
Land and Building were to be valued at Rs. 35,000 and Plant and Machinery at Rs. 25,000.

(iii)
The provision for doubtful debts was found to be excess by Rs. 400.

(iv)
A liability for Rs. 1000 included in sundry creditors was not likely to arise.

(v)
The capitals of the partners be adjusted on the basis of Z’s contribution of capital of the firm.

(vi)
Excess or shortfall if any to be transferred to current accounts.

Prepare Revaluation Account, Partner’s Capital Accounts and Balance Sheet ..
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Or
D, R and L were in partnership sharing profits and losses in the ratio of 3:2:1 respectively. The  Balance Sheet as on 31.03.2009 was as follows:

Liabilities
Rs.
Assets
Rs.


Capitals A/c


Buildings
12,000

D
24,000

Plant & Equipment
18,800

R
12,000

Stock
9,200

L
6,000
42,000
Debtors
12,400

Loan D
5,000
Less Provision
(1,200)
11,200

Creditors
15,600
Balance at Bank
16,120

Current A/c


D
1,920

R
1,680


L
1,120
4,720


67,320

67,320
D retired on 31/03/2009 and R and L continued in partnership sharing rofits and losses in the ratio of 2 : 1. D’s loan was repaid on 01:04:2009 and it was agreed that the remaining balance due to him, other than that of the current account, should remain as loan to the artnership. For the purpose of D’s retirement, it was agreed that –
(i) Building be revalued at Rs. 24,000 and the plant and equipment at Rs. 15,800.

(ii) The provision for bad debts was to be increased by Rs. 400.

(iii) A provision of Rs. 500 included in creditors was no longer required .

(iv) Rs. 1,200 was written off the stock in respect of damaged items included therein.

(v) A provision of Rs. 4,240 be made in respect of outstanding legal charges.

(vi) Goodwill of the firm to be valued at Rs. 14,400 and the retiring partner’s share is adjusted through the capital accounts of continuing parts.

(vii) You are requied to prepare Revaluation Account, Capital and Current Accounts of partners and the Balance Sheet of R and L as on 01.04.2009.
16. X Ltd. Invited applications for issuing 2,00,000 equity shares of Rs. 10 each. The amount was apyable as follows

On application


2.50

On Allotment


5.00

On First and Final Call

2.50

Applications for 3,50,000 shares were received and the allotment was made as follows:

Category


Shares Applied


Shares Allotted

I



50,000



40,000

II



1,00,000



60,000

III



2,00,000



1,00,000

All the shares  were alloted on pro-rata basis and excess application money was adjusted towards sums due on allotment. Madhu who belonged to category I and to whom 800 shares were allotted failed to pay the allotment money. Her shares were forfeited immediatedly after allotment was not received. Pooja who belonged to category III and who has applied for 400  shares failed to pay the first and final call. Her shares were forfeied after the final call. The frofeited shares were reissued @ Rs. 9 per share fully paid up.
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Or

M Ltd. issued 30,000 equity shares of Rs. 10 each at maximum discount payable as follows –

Rs. 3 per share on Application

Rs. 2 per share on Allotment

Rs. 4 per share on 1st and Final Call

The issue was oversubscribed to the extent of 10,000 shares

The allotment was made as follows –

List I
Application of 5,000 shares were in full.

List II
Applicants of 15,000 shares were allotted 10,000 shares on Pro-rata basis.

List III
Applicants of 20,000 shares were allotted 15,000 shares on Pro-rata basis.

All the share holders paid the amount due on allotment and call except Mr. X (who was allotted 1,000 shares under List II) and Mr. Y (who has applied for 2000 shares under list III). They did not pay any money due on allotment and 1st call. Their shares were forfeited and reissued at Rs. 6 per shares fully paid.
Pass the necessary journal entries to record the above transactions.


PART B

(ANALYSIS OF FINANCIAL STATEMENTS)

17. Quick ratio of a company is 1.5:1. State giving reason whether the ratio will improve, decline or not change on payment of dividend by the company.





1
18. State whether conversion of debenture into equity shares by financing company will result in inflow, outflow or no flow of cash.








1
19. Dividend paid by a finance company is classified under which kind of activity while preparing cash flow statement.










1
20. List the major headings of the Balance Sheet of a company as per schedule VI Part I of the Companies Act 1956.










3
21. From the following information prepare a comparative Income Statement.


4


2006
2007



Rs.
Rs.


Sales
6,00,000
8,00,000


Cost of Goods sold
4,50,000
4,80,000


Indirect Expenses
10% of Gross Profit
20% of Gross Profit


Income Tax
40%
40%

22. From the following information calculate any two of the following ratios:

(i)
Gross Profit Ratio

(ii)
Working capital Turnover Ratio

(iii) 
Proprietary Ratio

Information

Paid up capital




Rs. 8,00,000
Current assets




Rs. 5,00,000

Credit Sales





Rs. 3,00,000

Cash Sales




75% of Credit sales

9% Debentures




Rs. 3,40,000

Current Liabilities




Rs. 2,90,000

Cost of goods sold




Rs. 6,80,000
4
23. From the following Balance Sheet of S T Ltd as on 31.03.2008 and 31.03.2009 prepare a Cash Flow Statement:






Liabilites
2008
2009
Assets
2008
2009


Rs.
Rs.

Rs. 
Rs.


Capital A/c


Fixed Assets


S
50,000
50,000
Cost
80,000
1,20,000


T
30,000
50,000
Depreciation
30,000
45,000

Current A/c


 
50,000
75,000


S
5,000
15,000 
Cash
19,000
30,000


T
4,000
10,000
Goodwill
20,000
15,000

10% loan
50,000
30,000
Stock in Trade
30,000
40,000


Sundry Creditors
45,000
60,000
Debtors
65,000
55,000


1,84,000
2,15,000

1,84,000
2,15,000

Additional Information:

The profit of the firm was Rs. 50,000. During the year one machine was sold for Rs. 10,000; Its cost was Rs. 25,000 and on that total depreciation provided was Rs. 13,000.  
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PART ‘C’
(Computerized Accounting System)
17. What is coding?










1
18. What is a database?









1
19. List any four basic systems of Computerized Accounting System.


2
20. What is import and Export of Data?







3
21. What is meant by internal check?







3
22. What are essentials of a good reporting system?





4
23. A factory owner purchases a new machine that costs Rs. 3,00,000 and has a useful life for 10 years, with salvage value of Rs. 30,000. Indicate the formula to be used in an Excel worksheet to calculate Depreciation under the Diminishing Balance Method. Also using the formula, calculate the depreciation to be provided for a day, a month and a year.
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